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Dylan_ Polygon Interior Angles

Teacher:
I’d like you to share—okay, some people to share some findings.  Everyone, I need you to stop for a minute, please.  Student I.   Okay, remember I asked you to look for a pattern, okay?  So, the first one, can we look up here first, okay?  Everyone.  Eyes up here.  Okay? We did this together, okay, and we all agreed that the angle sum is 180, because each one is 60, right?  Is that true?

Multiple Students:
Yes.

Teacher:
Okay, and we--You measured the angles.  The square, I think that's the easier one because if it's a square then it has to have – wait a minute.  It has to have the –

Student: 
90 degree angle

Teacher:
-- the right angle, right?  So 90.  And you can measure those angles, okay, fairly easily.  That makes this 360.  Is that true?  Everyone good so far?  Now when you got to the pentagon, and I noticed different answers.  So can someone share?  Okay, how did you figure out the pentagon?  Let’s start with Student T.

Student: 
I got 108.

Teacher: 
I'm just going to write down the numbers, okay, and how, and why.  Did you just measure?

Student:
No.  Yeah, well, first I measured and I got 110,

Teacher: 
All right.

Student:
B then I remembered something that I researched before, and—yeah,I just remembered it was 108.

Teacher:
All right.  So you had 110, you had 108.

Student:
I had 110.

Teacher:
110?

Student:
So like, I added 180 to—

Teacher:
Wait a minute.  What number did you get?  What measure.

Student:
108.

Teacher:
Student M?

Student:
105.

Teacher:
Does anyone have a different one?  

Student: 
112.

Teacher:
112.  Okay.  

Multiple students
[various numbers]

Teacher: 
Hold it.  Now I think these numbers are very close, so I think you are around the same, the right track.  Okay.  So now I'd like you to explain.  Listening, please.  I'd like people to explain how and why you got those numbers, okay, besides measuring.  Did you have another strategy, did you find a pattern?  That's my question.

Student:
I first thought that it was 110, but then I thought it was 112, but then I got 108 because I saw the pattern in all the other ones that we added 180, and then – so it had to be 540.  So 540 divided by 5 is 108.  

Teacher:
Okay, not only did Student T use the number she measured, she also found – Student T, is that true?

Student:
Yes.

Teacher:
The difference between these two?  

Student: 
It’s the angle sums that are…

Teacher:
Is that right?

Student:
Yes.

Teacher:
And then—

Student:
[Inaudible].

Teacher:
So, do you see the difference here?  Do you see a pattern?  Now, this is skipping by 180 degrees.  Does that mean, when you add a side, do you add another 180?  Looks like it's very close, right?  If you have 550, or 500, but what about the rest of those?  Let's get the rest in and we can check.  Student A, what did you find for the hexagon?

Student:
Umm… I thought the angle was 130.  

Teacher:
130.  Does anybody have a different number for the hexagon?  Student T?  

Student:
I got 120.

Teacher:
120.  Does anyone have a different one?  Student W?

Student:
125.

Teacher:
Any other ones?  Can someone explain?  Student A?

Student:
It's 120, because triangles can fit into the hexagon.
Student: 
Yeah, it is 120.

Teacher:
Listening, please.

Student:
Like equilateral triangles, so if you draw it and you add the triangles in the two triangles… I need like a picture
Teacher:
Are we talking about the hexagon?

Student:
Yeah, she is right, she is right.
Teacher:
What triangle?

Student: 
The equilateral triangle.  

Teacher: 
Like that?  

Student:
Wait, divide it.

Teacher: 
Oh.  You mean like that?

Student:
Yeah, and then if you add--so each angle of the triangle is 60 degrees, so if you add--two of the angles, if you put them together make one hexagon angle, so 60 plus 60 is 120.

Teacher:
Okay.  Are you following?  Do you agree with that?  You can put two triangles, two angles from the equilateral triangle to make one angle in the hexagon.  So that's one thinking.  If we try to follow that – listening.  
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